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Instructions for Candidates

1. - Write your Roll No. on the top immediately on réceipt

of this question paper.
2. Attempt any Five Questions.
3. The distribution of the marks is given with the question.

4. Answers may be written either in English or Hindi;
~ but the same medium should be used throughout the

paper.
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[. (a) What is the observation of Third Working Group
on Monectary Aggregates? Discuss the New
Monetary and Liquidity aggregates recommended

by the Third Working Group.

(b) The Reserve Bank of India has released data on
sources and components of Reserve money as on

315t March 2022 which is given bélow. |

| Source/ Component | . | _ Rs. Billion
LI. Bankers' Deposits wifh RBI 877

LZ. ‘Other’ Deposits with RBI 58

[ 3.- Net RBI Credit to GOvérnment 14 51 |

/ 4. RBI Credit to Banks & Commércial Sector 544

-LS_ Net queign Exchange Assets of RBI 4442
6. Governmént_’s Currency Liabilities to the Public 28
7. Net Non-Monetary Liabilities of RBI 1309
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Using the above data, calculate the amount of
currency in circulation. Also prepare the balance

sheet of the RBI. (9+6)
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2. (a) Discuss the adjustment suggested by Rang.
: ' Barajay

and Singh to the basic cquation for
ne

multiplier approach.

(b) ‘Inability of weighted monetary aggregagq,
essentially reflects deficiencies of operationalisatig,,

rather than conce tualisation’. Discuss.
[ p

(c)A key. f1ﬁanc1a1 1nn0vat10n in 19803.that
dramat1ca11y 1nﬂuenced the role of flnanC1a1
_;int_ermed-iaries i‘s.'the‘ phenomenpn of Asset
S'ecur.i,tisat-ion‘. Eﬁplain in this qbntéxt th:e"p,rloc‘.ess
3 of asset secpritisation and discuss its implications

to :fihancial. market_s. | (5+5+5)
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3. (@A bank with rnar_ket power charges different
interest rates to borrowers with good and bad
credit risk under symmetric informatiorl and same
interest rate under asymmetrlc 1nformat10n

Elucrdate

(b) Explaln how transactlon costs 1nf1uence the
flnan(:lal structure Also explaln how f1nanc1al

1ntermed1ar1es help reduce transactron costs?

(10+5)f
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4. (a) Compare and contrast the sequence of events in
financial crises in United States and East Asian

Countries.

- (b) EXplain brieﬂy the'futures--contréct?'_Elucidate the
functions of a clearinghouse with respect to the

futures market. . (9+6)
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(@) Suppose there is an investor who longs a put option

®

on f-'\ssct XYZ that expires in one month and has
a strike price of Rs. 105. The option price is Rs. 2
and t»hc currqnt price is Rs. 105 and the investor
holds the asset till expiry date. Give the differerice |
in the profit and loss prdfile between Aa_lé)ng put
posifion ;and_‘a éhort put position with the help of

a table and: graphs.

Kartik\’s faltherv plans to. burch;sé. a $ 1 0,000 Car
when .he graduate‘sl schodl five‘lyears from
now. Calculate the amoﬁnt he; needs'to invesf in
each of ‘the _follloiwing -small saving {nstrﬁments
today at thp given interest rates compoﬁnde»d
annually to be.able to purchase the car. ‘Wh_ich

saving instrument requires him to invest less and

why?

P.T.O.
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[Saving Instrument Interest Rate
[ Savings 1gs Deposit 4% :
'3 Year Time Deposit in a Bank 6%

National Saving Certificate 7% :
' Employee Provident Fund 8% .
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| Saving Instrument Interest Rate
_ | Savings Deposit 4%
| 5 Year Time Depositin a Bank 6%
National Saving Certificate | 7%
Employee Provident Fund | 8%

6. (a) Illustrate with a sultable example the inverse -
relat10nsh1p between market interest rates and :

pr1ce of coupon bond w1th d1fferent maturities.

(b) Explam W1th the help of graphs how each one of

the followmg affects the demand and supply curve

- for loanable fund_s.
(i) decrease in inflationary expectations

P.T.O.
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(i) an increase 1n size of government y,
deficit
(iii) decrease in wealth (O
946
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7. (a) How have capit; - ‘
(a) How have capital requirement norms changed fre

Basel II to Base] [11?



3726 | 11
(b) In India, banks are the main conduits through which -
monetary impulses are transmitted to the real
economy. In this context review the bank’s lending

rate system since the early 1990s. (7+8)
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8. (a) What are the channels of monetary policy
~ transmission and explain with the help of a

flowchart?

(b) Explain the use of repos and reverse repos as

tools of-mdnetary ;management. | (10+5)

P.T.O.
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